AZCI et % HAZ D501 AT S HGO| FHHS B 4 YBLICE 22 0| REE LS FISHI B O[GSIAI7| BIEILICEL KP 2011

B TI-P130-28
spl ra ST Issue 11
sarco

DN32 a2 SHR[7HZ4| 2t UA[HO|Ct.
DN15 ~ DN25= 2HA7H S0 8 EE0f AL

@2

SGCA0(EtAZ BA4) 2t SGSA0(AHR|AZL B4) £ 0|S REIAO|E S2AZ LA, Q4 SHIZA| AL YA L= ZaMR|AQ| HIZAZO| 7+SOtL,

BE

0| M| &2 Pressure Equipment Directive (PED)Q| 712712 24510 Q¥ A| (€ 029 20| 7455tk
gHM _

HZYH B2 A AZMEN 10204 3.1 242{AM2| SS0| 7HsSIC

T RE ASM/EHME= T2 Al B7[8HOF L,

AEALS

- A0 A e R0 B2 20ls RAHISE AT A D0 F2EN SE7Hs
- 0|7HMica) ESZZ : AJO|E 22849 Q

- PTFEZtAZN 2t q 2|

07t ESEE AHEA

AHEA AR 23|
A = pH9 23t 0]7H(Mica) E3ZE,
H242|7|0|E(borosilicate) 82| SA| AHR
150 C 22t 2 pH7 22t 0]7H(Mica) E3ZE,
H2M2|7|0|E (borosilicate) R2| SA| AR
150 C Oj2He! pH7 0|2k H2AM2|7|0| E (borosilicate) |2/ At

® 77 U jzoizy

WO 1 1047, 27 LEAFAL BSP, NPT, AZ1-8 Al
DN15, 20, 25, 40, 50 914 S ZA ASME BPE
DN15, 20, 25, 32, 40, 50, 65, 80, 100 Z2H2|A PN40, ASME Class 150/300, KS10/20
Z2i2|A HZIH2]= EN 558 Series 1 S &45tC

First for Steam Solutions

EXPERTISE ‘SOLUTIONS ‘ SUSTAINABILITY



sPIra)(SGI'CO

3 0

1 2 5
DN32 JZ2 2|7t S|k A0 T,
CWUE DN15 ~ DN25= 3|7 Z2]0of 8850 UL,
Hs EF A
Body* SGC40 Carbon steel EN 10213 1.0619+N/ASTM A216 WCB
(DN32~DN100)  SGS40 Stainless steel EN 10213 1.4308/ASTM A351-CF8

¥ ?Body A2 RE B2 AZLAI0f
Y

{5t DN32~DN1002 Z23H2|7F 24|12 LA So|ct.
DN15~DN25 Z212] 22 of2f =

*Flange SGC40 Carbon steel C22.8 according EN 10222-2/A105N according ASTM A105
(DN15~DN25)  SGS40 Stainless steel 1.4571 according EN 10222-5/316Ti according ASTM A182
SGCa0 DN15 ~ DN40 Carbon steel C22.8 according EN 10222-2/A105N according ASTM A105
2 Cover DN65 ~ DN100  Carbon steel EN 10213 1.0619+N/ASTM A216 WCB
SGS40 Stainless steel EN 10213 1.4308/ASTM A351-CF8
3 Window Borosilicate glass
Reinforced exfoliated graphite (standard)
4 Gaskets or PTFE Glass filled (optional)
5  Cover bolts Stainless steel ENISO 3506-1 A2-70
MERARF 24 A
6 Visual flow indicator flap Stainless steel
7 Spring Stainless steel
8  Glass protectors Mica

TI-P130-28 / ST Issue 11 SGC40, SGS40 AIO|E S2tA Page 2 of 5



sPIra)(SGI'CO

280-A BC DE F
280 N N O] Folof A= Tatto| At
A\N TN~ AFE7HsBiC
SGC40 200 27H53lLt.
Carbon °tH) 150 \\\
steel o 1004 msiz) \\ A\ O] FHOAE AHEE 4 YT,
50— =4
0
B C E F
-29 _B-B = |
0 10 14 196 30 34 40  ABB SHANIIS/KSIO
221 b -
S=barg A-C-C S|4l ASME 150
2802 BC D EF =
520 \\ AN VAN A-D-F Z22|Al EN 1092 PN40
A NANA
2 -
§G$4|0 © 125 NS A-E-E Z2|4] JIS/KS20
tainless L N
steel ol 100-45}%” \\ A-F-F NPT, QA SaqmAl
504— mud Z212]4] ASME 300
oy = E F
0 10 14 19 20 30 34 40
Y™ barg
SAEAZA PN40
PN40 40barg @ 50 °C
ASME 150 19.6 bar g @ 38 °C
SGC40 ASME 300 40barg @ 280 °C
JIS/KS10 14 barg @120 °C
I JIS/KS20 34barg @ 120 °C
2[rH5182 :
ItHst (PMA) PN40 40barg @ 50 °C
ASME 150 19barg@38°C
SGS40 ASME 300 40barg @ 111 °C
JIS/KS10 14 barg @ 120 °C
JIS/KS20 34barg @ 120 °C
R PTFE 7tA7U 250C
o2
2 L= (TMA) SGCA0/SGSA0 5o hite Jh AT 280C
PN40 31.1barg@ 238 °C
ASME 150 13.8barg @ 198 °C
SGC40 ASME 300 40 barg @ 252 °C
JIS/KS10 12.5bar g @ 195 °C
] . JIS/KS20 30.3barg @ 236 °C
2AHALB(PMO) - E8t5710] B2 o
[CHAFELH(PMO) - Z3H37|9 4% PN40 28.3barg @ 232 °C
ASME 150 12.9 bar g @ 195 °C
SGS40 ASME 300 32.8barg @ 241 °C
JIS/KS10 12.5bar g @ 195 °C
JIS/KS20 30.3barg @ 236 °C
. PTFE 7tA7U 250C
=2 2D
2|CHALR 2= (TMO) SGCAO0/SGSA0 G iie 5t 80
zAAPELE SGC40 -29°C
0 G2 2 ATO—AALDO| 23t SGS40 -10C
SUAFYY 60barg

TI-P130-28 /

ST Issue 11

SGC40, SGS40 AIO|E SEtA

Page 30f 5



sPIra)(SGI'CO

@ | (mm) & F A kg)

2|4= (mm) Al (kg)

74 = LIARA! ST
© A Al A2 B C D Ea2)4 A7 2EA %%E Al
DN15 130 95 120 48.5 46.7 10 3.5 2 2
DN20 150 95 140 51 46.7 10 4.3 2 2.2
DN25 160 95 155 68.5 60.8 15 6.4 3.5 4
DN32 - 150 - 915 71.4 15 - 7 -
DN32 EH | Al 180 - - 72 60.8 15 7.8 - -
DN40 - 150 202 91.5 71.4 20 - 6.75 7.4
DN40 S| A 200 - - 86.5 71.4 20 10.5 - -
DN50 230 150 232 915 71.4 20 12.5 6 7.6
DN65 290 - - 126.5 113.2 30 27.7 - -
DN80 310 - - 134 113.2 30 31 - -
DN100 350 - - 143 113.2 30 37 - -
= Em—
@ oA A (ZX|A])
*;*ﬁ@ AFBHS M| Z 0t 3| 22 el A3| 2 | 22 (IM-P130-29)E 2 - Al — 5]
SR (LIAKAL AZIRTA)
An — TN T -
U ZZAME, B LH01| Qle HAIN S21(E5| Y7ta| U AHA) 0| OJ5 ALO] ’
EZ2tA9 R EI LHETHO| 2 AFEl 4 QICE ABIO| AFREIALE, At 2bpHo 2 | | | | Lpeeooeooooo )
pO|7LY, A7} pH7 iﬂroww 2E7H150C 2Rl RoM= 07t E5E B | ! | | ; I
&(Mica glass protector)O| 82| A && Ar&sfof otct. || L [ 7T
AO|E ZatA S 27|40 2 M25t0] 22|90 £77F QF0FH=2| E0I5H= 7 ' o
0| ZQ5ICt Q27+ QOFXTLE ZIAI0]| o5t £4H0| QL AR ZA| Q2|12 1 D Vo
A[soF BHCt. b b ¢
AO|E Z2HA IR0 3 2= RH|12 MASH= AR Al HOIAS 22751010 B L [ ----------- : i
5101 9217} ILHAEH LS ChH[3 QR0 SJ3H0f BHCF HIEA D (R2))

A-|7\| Al 0|A|—o|— ’ T
SGS40 AHR|AZ SHH B0 HEES| U ZE0|= HUG| 12| AS Ut l—_ — = -
ZHR 20| HHAMBHR| QfE 2 SICH AfO|E 2atA Q| QT U 2 20f AHTHEEES le— ¢ —>
A2|5HOF SHCH DHFS Of|taly| SIo] ALS S WiHE 1Y HOLOF BIT) ALO|E
ZatAL ABIEMO| 2120 2H|0f| HAIE SH| 52 BI5FSHATO| et £ < A2 >
I [ 2] UI5EO 2 A2|BHOF SHCH (A SaHmAL)

2 A0 "RHSE AR 0] HAIE OIS FaAAZ ABuZ0| A
81 A2 FATF RS SO1E 2 5100F Stk HRLIO|HY ARERD 2

0| 18iZ0 2 248 HE3LS EYO| A2 YOI 24 | mE Hojy
APO|E S2AS HJaf0F SHF. 0l K20l B2 37 T Y0l loh
2 97 Y2 57| A3 20k

w3 IS 9I5HB 20| SHESI0{0F BT

Z20f

1 off Spirax Sarco DN20 SGS40M sight glass having a stainless steel body, removable toughened glass windows and flanged EN 1092 PN40

connections.

TI-P130-28 / ST Issue 11

SGC40, SGS40 AIO|E SEtA

Page 4 of 5



smra)(sarco

T2 AUCZ HAE[O QOH, MU0 2 HAE

Set of windows and gaskets
Set of gaskets

Visual flow indicator flap
Mica glass protectors

w
Sl R ENIEN

' SE ISt GHIRE RO REES AFSSILAO|E 2214 FE F

JH|RE =2 0

1 off Set of windows and gaskets for a Spirax Sarco DN20 SGC40
sight glass.

@ HEABEZR
- o= >
k=l 73 = (O ) Nm
© .. B
DN15 - DN20 8 17 AJF M10 x 35 12
5 DN25 - DN32 Z2H2| 4] 8 19A/F M12 x 50 28
DN32 LIAMAL AZIEHA DN4O - DN50 8 19A/F M12 x 60 38
DN65 - DN100 8 23 A/F M16 x 85 132

WEAL:TEL(02)3489-3489, FAX 525-5766 Wl
SIZATOI™ A AL (F) © 25E{ 1509001 (B AEY), IS014001 (4%

32 TEL(032)820-3000, FAX 032-811-6215 B
&), OHSAS18001(AAHEH), ISO50001(AfHREY) 2SS HSoHAFUCE

R ALOAAAD (F= 20|EQ1S-2(LRQA)



